ERNZAROZEEERT — 2 ~N—XIBISH —F 2017510838 (&) 12@K#H2H

mf':'lﬂ%" B3& #5%—# B IR
[A&4£] 1 7% :2,100,000 @ 2 7% :840,000 @ 3 3%&:525,000  ~ 4 3#&:315,000 @ ~ 5 7 :210,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . 7 | ElIERD 1:57.0 13-13-13-13 38.2 | — 4 468 | =IRERLE (/ViA)
1158 JALLTIM4X g SEG. (=) (+4) BEEx
L:TA=—T4FAF =% B:INITT—F palite]
= N URZ] :57. —10-10- . — KBHEE (18)
"M | 717LESHT= H o4 e 1(757t§) 8-10-10-8 | 39.9 3 (5_1;) Feios
LA a4 Ly B:T7AT7LxF HET77—L
< B — A : 01— — BEEEE (KH)
W]z o B Sl | 2 e o | aEae
LA N—3IFAR—b BIRFATTLOVY HREH X
R 4 5 | R. /7b0O 1:57.4 3-3-4-3 | 40.7| — 9 462 | R EEF (KH)
4 13 ATV T —2R 56.0 (a 1/2) (-5) (ﬁs;iiﬁt%
Rixiv/xwF BXTULTRY2— it s
T 4 4 | BPEFA 1:57.9 1-1-2-1 | 41.3| — 6 495 | $HAREZ (KH)
5 Bl 2 EFH N 54.0 : (2 1/2) o) #FEFE
R:v—RFAY%>F— B:7O0-T1—IK #A FE
¢ o s A o6 | REEE 1:58.0 7-7-11-11 | 40.8| — | 13 | 553 |B&EHIE (K3#)
6 Y 10 NT—EyF>J 56.0 (1/2) (-3) REZA
R:707% B4y I70F1 Liflib e
N N FHfE— : —12-12- — JEF IR (/)\HE)
H . AEETEDN # | gm o L R B I B v
XL THANAN B:F5F4—) HRXEHE /-
R N )| E . —11-8— = BEEE= (KH)
gl 1]1 | XA RTLAIN- H o7 ! (11.5:?/.;1) 11-11-8-6 | 41.4 8 (4_937) el
LZRTY 4 RF— BTIATIRUT St
A0 f 3 | AR 1:58.4 4-4-6-3 |41.5| — | 7 | 430 |HHE CKH)
91711 54.0 (NF) () |RWEST
RU—FHIIYL BZi I h—— AtEdis
-5 = 5 #H o4 | BBEXE 1:58.6 6-6-4-5 |41.9| — 10 | 519 | (FE#0)
10)814) YT =2 =757 5.0 (3/4) Ly | SHEZ
R:TA—T4FAF=—ZH> B:UNTELR FH FB
; B 5 | AEEX 1:58.6 13-14-14-14{ 39.5 | — 11 453 | SLAEfR (K3)
11157 7EDT 54.0 (74%) (-4) & V=77
Liwrsn7oq B4 RFTHILK HET7—L
4 4 | Rk 1:58.7 5-4-7-9 | 41.7| — 12 | s27 | FHAKIE (AN
12 3 FT*E2H 56.0 (172) (o) | EHIHA
R:TH AT Ly h— BFv—LETFv— ==L et
+ 3 | I3 1:59.1 10-9-9-10 | 42.0 | — 5 487 | FEAE (KH)
19| FrUFy L= * 56.0 @) ) | @ TIeFF—F—x
R:YZRZ—=3IZ242— B:Fr—LEVFv— [Ealiiksed
RS, 4 4 | HEXH 1:59.2 9-8-3-6 |42.5| — 2 545 | KEPZEM (KH)
14[7)12| 7722 v = 5.0 (172) (o |KEmHE
RFXLTHANXIN BTV v XT5T— LIS
® 1—F—@EBIERL
13—+— |2,4,13,11,3,14,10,6,12,9,1,5,(7,8)
23— — 2,4,13,(3,11),14,10,12,9,6,1,5,8,7
Ja=5= 4,2,12,(13,14) ,11,3,1,9,6,10,5,8,7
43—+ — (2,4),(11,13) ,14,(1,12) ,6,3,9,10,5,8,7
[ N5
B 8 760M 714K 6-8 640 e E 4-5 1,160M JEE 4-6-8 1,360
B B 8 1609 4-8 390M e B 5-4 2,860 3EE 8-6-4 9,730
6 180H4 4-6 440M B & 6-8 1,400
4 1309 B H 8-6 3,130M

ABICOVWTRDTEEERROODE. TR LIV,



